Group

10
11
12
13
14
20
21
30
33
40
41

4/19/2025

»@ CLASSIC TRACTOR

_&, ©

HARDWARE

» Specializing in hardware, rubber, electrical, control, and
hard to find parts plus some unique merchandise.

» Serving Oliver, White, M-M, and Town & Country

» Helping restore your tractor to factory original condition,
parts made in the USA to original specs.

Bill Martinson
1423 10th Ave E,

Unit 304

West Fargo ND 58078

701-238-1143

tractorhardware@gmail.com
www.oliverhardware.com

Table of Contents

Title Group
Sheet Metal Restoration Hardware Kits 50
Sheet Metal Parts 60
Sheet Metal Screws 61
Button Plugs 62
Grommets 63
Fenders, Platform, Seat 70
Control Knobs and Grips 71
Engine 80
Exhaust Clamps 82
Drive Train 90
Drain Plugs 91

www.oliverhardware.com

Title

Hydraulics, Hitch
Electrical, Lighting
Fuses

Light Sockets
Battery Bolts
Steering

Steering Wheel Nuts
Frame, Wheels
Lube, Filters

Cab

Merchandise

Page 1 of 34



10 - Sheet Metal Hardware Kits

W411

zn Lss
w412

zn [ss
w413

zn U ss
W414

zn [ss
W421

zn U ss
W422

Zn Lss
W424

Zn M ss
W425

Zn M ss
W426

zn U ss
W433

zn U ss
W434

zn U ss
W435

Zn M ss
W436

zn [ss
Wa42

Zn M ss
W443

Zn M ss
W451

Zn M ss
W452

Zn M ss
W453

Zn M ss
W454

Zn M ss
W461

Zn Ml ss
W462

Zn M ss

4/19/2025

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

3-digit grille
Hardware Kit, Sheet Metal

4-digit checkerboard grille
Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

knob screws not included
Hardware Kit, Sheet Metal

knob screws not included
Hardware Kit, Sheet Metal

knob screws not included
Hardware Kit, Sheet Metal

knob screws not included
Hardware Kit, Sheet Metal

knob screws not included
Hardware Kit, Sheet Metal

knob screws not included

Oliver

White

60

70

80

90

S44, 440

$55

66, 77, 88 Fleetline

$66, S77, S88, 660

$99, S99GM

550 (3-digit)

550 (4-digit)

770, 830

950, 990, 995

1600

1800, 1900

1550

1650

1750, 1850, 1950

1950T, 2050, 2150

1555, MM G550

1655, 2-78, MM: G750

www.oliverhardware.com

Page 2 of 34



10 - Sheet Metal Hardware Kits

W463
Zn M ss
W464
Zn M ss
W511
Zn [1ss
W512
zn Uss
W513
zn Lss
W514
zn Lss
W522
zn [ ss
W523
zn Lss
W525
zn Uss
W524
zn Lss
W526
Zn Uss
W531
zn U'ss
W312
[Jzn [lss
W322
zn U'ss
W323
Zn [lss
W324
zn Lss
W331
zn [1ss
W333
zn Uss
W334
zn Uss
W335
zn U ss
W342
zn [ ss

4/19/2025

Hardware Kit, Sheet Metal
knob screws not included
Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

2-85 S/N 263341 to 281301; 2-105 S/N 255216 to 276761

Hardware Kit, Sheet Metal

2-85 SN 281302 and later; 2-105 S/N 276762 and later

Hardware Kit, Sheet Metal

late models

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Series 3
Hardware Kit, Sheet Metal

Series 3

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

YA

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Gvi
Hardware Kit, Sheet Metal

Oliver

White

1755, 1855, 1955, G850,
G940

MM: G850, G940

2255

www.oliverhardware.com

2-70

2-85, 2-105 early

2-85, 2-105 late

2-150

2-88, 2110

2-135, 2-155

2-180

2-135, 2-155, 2-180

Series 3

2-180 Series 3

100, 120

ZB

uB

GB

335, 445

Jet Star, 4 Star, 4 Star

Super

5-Star

Gvi

M5

Page 3 of 34



10 - Sheet Metal Hardware Kits

W343
zn U'ss
W344
zn Uss
W345
zn U'ss
W351
zn Uss
W352
zn U ss
W353
zn Ul ss
W354
[Jzn [ss
W355
zn U ss
W356
zn U'ss
W363
zn [l ss
W364
zn Uss
W374
zn Uss

4/19/2025

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

M670 Super

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal

Hardware Kit, Sheet Metal
G955/1870, G1355/2270

www.oliverhardware.com

M602, M604
G704, G705, G706
G707, G708
JetStar3, JetStar3
Super

U302

M670

M670 Super
G900, G1000
G1000 Vista
G950, G1050, G1350,
2155

A4T, 2655

MM G955, G1355;
Oliver 1870, 2270

Page 4 of 34



11 - Sheet Metal Parts

100619A
zn U'ss
107320A SS
[Jzn U'ss
1122
[Jzn Uss
1123
[Jzn U'ss
W456
zn U ss
W466
zn Ul ss
166192A
[(Jzn [ss
1099
[Jzn [lss
106104A
zn U'ss
$2563A
zn [l ss
155950A
zn Uss
155951A
zn Uss
W437
Zn M ss
1198
[Jzn [lss
909092
[Jzn Uss
W438
zn U ss
W467
zn Uss
W429
zn [ss
1357
[Jzn Uss
2978
[Jzn [lss
677613A
[(Jzn [ss

4/19/2025

Oliver

White

Grommet, Hood - Fuel Tank all models

2441D

Screw, No. 8 - 32 x 3/4 Pan Hd - stainless 1600-1900; 1550-2150,

1555, 1655
4D grille emblem and dash panels

Washer, 5/16 Flat Nylon 66-88, S66-S88, 660-
880, 1600-1900, 1550-
2150, 1555-2255, G550-
66-88, S66-S88, 660-
880, 1600-1900, 1550-
2150, 1555-2255, G550-
'50 & '55 Series; G550,
G750, G850, G940

protects paint under hood screw
Washer, 1/4 Flat Nylon

protects paint under hood screw
166205A Side Panel Knob Screw

knob screw & retainer

166205A Side Panel Knob Screw w/spring 1755, 1855, 1955,

G850, G940
knob screw, retainer, spring, clip ring

Latch Assy, 55 Series Side Panel 1755, 1855, 1955, G850,

G940
side panel center knob screw

Clip Nut, Hood 5/16 - 18 4-digit
replace missing weldnut

Bumper, Rubber 1600, 1800, 1900, 1550

Side Panel

Blind Nut, Instrument Panel 5/16" 66-88, S66-S88, 660-380

blind nut at rear of clutch side panel; substitute for S2563 Simmons fastener

Spacer - Upper (S/N 60501 -) 550, 4D grille
4D grille, short spacer
Spacer - Lower (S/N 60501 -) 550, 4D grille

4D grille, long spacer

3- digit (2); "00 & '50
series (4)
#3 screw 107320A and speed nut 105203A; included with sheet metal hardwar

Grille emblem hardware (SS screw)

Screw, 1/4 - 20 x 1 Slotted Rd Hd. - Stainless 66 thru Super 88
2D grille strip, 2 per

Screw, 3/8 - 16 x 2-1/2 Slot Rd. Hd. Mach $99, S99GM

99 grille strip, 2 per tractor; included with sheet metal hardware kit

Wing Bolt & Nut Kit, Grille 950, 990, 995

wing bolt and speed nut for upper grille mounting; 2/tractor; incl. with sheet me

Dash Screw Kit 1755, 1855, 1955, 2255,
G850, G940, G955,
G1355

Super 55, 550

#8 screws, dash & steering column boot
Hardware Kit, Rubber Mount 100611A - S55 & 550

one mount with hardware; S55 & 550 radiator shell (2), 550 Hood (3)

Foam Strip, Hood w/PSA (bulk 3/16" x 1") Super 55, 550

1E813A & 1E813B on early S55: 1E813C & 1E813D; sold by the foot

Screw, Drive No. 6 x 1/4 Rd Hd Brass all models
nameplate, SS
Pad, Radiator Lid 1465 1465

www.oliverhardware.com

all Field Boss and
Workhorse

G900

G900

Page 5 of 34



11 - Sheet Metal Parts

1364
[Jzn U'ss
1355
[Jzn Uss
W516
Zn [1ss
30-3126528
zn Uss
30-3126536
[Jzn [lss
30-3191753
zn U ss
30-3200035
zn [ ss
30-3210596
zn U ss
30A1807
zn Uss
10A23225
zn U ss
TM1983A
Zn Uss
10A23417
Zn [lss
10A23419
zn U ss
10A10106
zn [ss
W359
[Jzn [lss

4/19/2025

Seal, Expanding Foam 1" x 1 x 20’ roll

Seal, Expanding Foam 1-1/4" x 1-1/2" x 15' roll

156756A, 156762A, 156763A radiator, 30-3023164 fuel tank
Dash Screw Kit

Bracket, Rubber Hook

side panel mounting

Hook, Rubber

4/tractor on 2WD; 6/tractor on 4-150 180; 2/tractor 4-270
Isolator, Rubber

includes 1/4 x 1 capscrew and flat washer; 4 per tractor
Bumper, Rubber - Side Panel

incl. #10 mounting screw; 4 per tractor

Bumper, Side Panel

includes 5/16 mounting nut

Catch, Removable Hood

for latch 10A23225; includes mounting hardware
Latch, Hood to Panel

includes #6 mounting hardware

Latch, Spring Draw

includes #10 mounting hardware

Receptacle, Stud Assy Quarter Turn

grille screen: receptacle and lock nut
Stud Assy, Quarter Turn

grille screen: stud, lock washer, nylon shim
Bumper, Rubber - Grille

use 106104A

Isolator, Side Panel - M670

Oliver

White | MM

all 4-digit models
radiator; 1755-2255 fuel
tank

all 4-digit models
radiator; 1755-2255 fuel
tank

G955, G1355

www.oliverhardware.com

2-85-2-150 fuel tank

2-85-2-150 fuel tank

2-85, 2-105, 2-150 G955, G1355

2-135, 2-155, 2-180,
4WD models

2-135, 2-155, 2-180 -
both series, 4-150, 4-
180, 4-270

all Field Boss 2WD &
4WD, all Workhorse

2-70, 2-85 (277182-),
2-105 (276762-), 100,
120

2-88, 2135, 2-155, 2-
180, 100, 120

U302, M5, M670,

U302, M670, G900,
G1000, G1000V

letter models

U302 (27601301 & up),
M670 (29901892 & up),
G707, G708, G900,
U302 (27601301 & up),
M670 (29901892 & up),
G707, G708, G900,

335, 445, 5 Star, JetStsr

M670

Page 6 of 34



12 - Sheet Metal Screws

1196
[Jzn Uss
1197
[Jzn U'ss
1110
[Jzn Uss
1145
[Jzn U'ss
51A2633
[Jzn [ ss
50A2633
[Jzn [lss
50A2634
[Jzn [ss
50A4705
[Jzn [lss

4/19/2025

Screw, 1/4 - 20 x 1/2 Truss Hd Slot

hood and side panel mounting
Screw, 1/4 - 20 x 3/4 Truss Hd Slot

hood and side panel mounting
Screw, 5/16 - 18 x 1/2 Truss Hd Slot

hood and side panel mounting
Screw, 5/16 - 18 x 3/4 Truss Hd Slot

hood and side panel mounting
Screw, 5/16 - 18 x 3/4 Unslotted Indented HWH

regular thread
Screw, 5/16 - 18 x 3/4 HWH Typ F (GM172455)

sheet metal
Screw, 5116 -18 x1 HWH Typ F

sheet metal
Screw, 5/16 x 1-1/4 Self Tapping HWH Typ F

Oliver

all Oliver hood and
side panels

all Oliver hood and
side panels

all Oliver hood and
side panels

all Oliver hood and
side panels

www.oliverhardware.com

ROPS

U302 thru G1350

U302 thru G1350

U302 thru G1350

M670, G707/8

Page 7 of 34



13 - Button Plugs

1216
[Jzn Uss
1214
[Jzn U'ss
1226
[Jzn Uss
1220
[Jzn U'ss
1215
[Jzn [ ss
1212
[Jzn [lss
1213
[(Jzn [ss
1221
[Jzn [lss
1222
[Jzn Uss
1317
[Jzn [lss
1223
[Jzn Uss
1224
[Jzn U'ss
1211
[Jzn Oss
1236
[Jzn [lss
1231
[Jzn Uss
1227
[Jzn [lss
1228
[Jzn U'ss
1225
[Jzn [lss
30-3173585
[Jzn Uss
30-3173593
[Jzn [lss
935109
[(Jzn [ss

4/19/2025

Plug, Button 3/4 Dia. Hole

hydraullic valve;
Plug, Button 5/8 Dia. Hole

FWA shifter
Plug, Button 1 Dia. Hole

plated steel
Plug, Button 9/16 Dia. Hole

instrument panel
Plug, Button 3/4 Dia. Hole

Plug, Button 15/32 Dia. Hole

plated steel
Plug, Button 1/2 Dia. Hole

MM light switch hole
Plug, Button 9/16 Dia. Hole

MM light switch hole
Plug, Button 11/16 Dia. Hole

'00 & '50 dash
Plug, Button 5/8 Hole Dia.

Plug, Button 11/16 Dia. Hole

instrument panel
Plug, Button 7/8 Dia. Hole

Plug, Button 13/32 Dia. Hole

Diesel (1800 RC, WHT, IND)
Plug, Button 1-1/16 Dia. Hole

Dash panel side (2)
Plug, Button 1-3/16 Dia. Hole

brake dust shield
Plug, Button 1-1/4 Dia. Hole

plated steel
Plug, Button 2 Dia. Hole

PTO, hood (tractors with manual steering); MM: dash support, diesels (2),
Plug, Button 7/8 Dia. Hole (Alt 935107)

Plug, Button 9/32 Dia. Hole
wiper holes, door

Plug, Button 9/16 Dia. Hole

Plug, Button 15/16" Dia. Hole

www.oliverhardware.com

Oliver White | MM

1550, 1650, 1555, 1655, (2-70, 2-85, 2-105, 2-

1755, 1855, 1955, 2255; (150, 2-180, 2-180/S3,

G850, G940, G955, 2-135, 2-155, 2-

550, 1800, 1900 2-135/83, 2-155/83, 2- Gvi
180/S3

G955, G1355

S99, S99GM, 950, 990, 2-85, 2-105, 2-150, 2- |MM

995 180, 2-180/S3, 2-
180/S3, 2-135, 2-155,

1755, 1855, 1955, 2255

dash - 4WD shifter

G955, G1355

G955, G1355

1755-2255 cab 2-88, 2110

1755-2255 cab 2-135/83, 2-155/S3, 2-

180, 2-180/S3

1550, 1555, 1750, 1850,
1950, 1950T, 2050, 2150

1600, 1800, 1900, 1650, (2-70
1750, 1850, 1950

1755, 1855, 1955, 2255 G955, G1355

1755, 1855, 1955, 2255 G955, G1355

1800, 1900

1550, 1555, 1650, 1655,
1950T, 2050, 2150,
G550, G750

$99, S99GM, 950, 990,
995

550, 66, S66, 77, S77,
88, S88, 770, 880

550, 770, 880, 1850,
2655

G950, G1050, G1350,
A4T, 2155, 2655

$55, 88, S88
2-135, 2-155, 2-180,2-

88, 2-110, 2-135/S3, 2-
155/83, 2-180/S3

2-135, 2-155, 2-
135/83, 155/S3, 2-
180, 2-180/S3

Page 8 of 34



13 - Button Plugs
1218 Plug, Button 7/8 Hole

[Jzn L) 8S black plastic prong, w/o lighter
1219 Plug, Button 3/8 Dia. Hole

[J zn [J 8S instrument panel

4/19/2025

Oliver White | MM

www.oliverhardware.com

2-88, 2-110; 2-135/S3,
2-155/83, 2-180/S3

G950, G1050, G1350,
A4T, 2655, 2155

Page 9 of 34



14 - Grommets

102860A
[Jzn Uss
106332A
[Jzn U'ss
155238A
[Jzn Uss
1B7362B
[Jzn U'ss
1K848
zn U ss
1B7362
[Jzn [lss
1CD7362
[(Jzn [ss
101537A
[Jzn [lss
157614A
[Jzn Uss
166158A
[Jzn [lss
1A7362
[Jzn Uss
1B7362A
[Jzn U'ss
1B7364
[Jzn Oss
1B7364A
[Jzn [lss
1CD7364
[Jzn Uss
1D7362
[Jzn [lss
1E769
[Jzn U'ss
1H237
[Jzn [lss
1K2068
[Jzn Uss
7A7362
[Jzn [lss
B7364
[(Jzn [ss

4/19/2025

Grommet, Rubber - grille 1 OD x 5/16 ID x 1/16 Gr

grille mounting 6/tractor; 1 OD x 5/16 ID

Grommet, Rubber 11/16 OD x 7/16 ID; 1/16 Gr x 3/16 hole

hydralectric lever
Grommet, Rubber 2-1/4 OD x 1-5/8 ID x 5/32 Gr

2-1/4 OD x 1-5/8 ID; Fuel Tank Front Support
Grommet, Rubber 5/8 OD x 3/8 ID X 1/8 Gr

hydralectric
Grommet, Rubber

dash pulley control; White draft control
Grommet, Rubber 5/8 OD x 1/4 ID x 1/16 Gr

1/4" SAE Std

Grommet,

Grommet, 13/16" OD X 3/8" ID

990 wiring
Grommet, Rubber PS Reservoir

power steering reservoir, E769

Grommet, Side Panel

5/8 OD x 1/4 ID x 1/16 GR
Grommet, Rubber 7/8 OD x 3/8 ID x 1/16 Gr

wiring

Grommet, Rubber 5/8 OD x 5/16 ID

wiring

Grommet, Rubber 1-3/8 OD x 3/4 ID x 1/16 Gr
wiring

Grommet, Rubber 5/8 OD x 1/4 ID x 1/4 Gr

Grommet, Rubber 1-3/8 OD x 3/4 ID X 5/32 Gr
wiring
Grommet, Rubber 1-1/8 x 5/8 x 1/16 Gr

warning lamp mounting

Grommet, Steering Column 2-1/8 OD x 1-1/2 ID x 1/16 Gr
steering column, PS reservoir; 2-1/8 OD, 1-1/2 ID, 7/16 thk

Grommet, Rubber 7/8 OD x 1/2 ID x 1/16 Gr

ignition cable
Grommet, Hydralectric 1-1/20D x 11D x 1/8 Gr

hydralectrc, hydrapower

Grommet, Rubber 11/16 OD x 3/8 ID; 1/16 Gr x 1/2 hole

Grommet, Rubber 1-3/8 OD x 3/4 ID x 1/16 Gr

lights

Oliver White

2-70 2-85 & 2-105
later version with
grille lights; 2-88, 2-
950, 990, 995, 4-digit 2-70 hydralectric
hydralectric
1600, 1550, 1650, 1555, |2-70

1655, G550, G750,
1950T, 2050, 2150

6, 7, 8's wlo hydralectric 2-85, 2-105, 2-135, 2-
155 warning light
early 2D w/belt pulley |2-85 & 2-105 w/o cab

6, 7, 8's wiring

550 4D

1550-1950, 2050, 2150,
1555-1955

6, 7, 8's wiring

6, 7, 8's wiring

$55, 550 lights

6, 7, 8's wiring

550 lights

$55, 550, 770, 880, 1600-
1900, 1550, 1555,
1650,1655, 1750

6, 7, 8's ignition cable

6, 7, 8's hydralectric

6, 7, 8's electrical

www.oliverhardware.com

Page 10 of 34



14 - Grommets

168700A
[Jzn U'ss
30-3355721
[Jzn Uss
10A4813
[Jzn U'ss
50A4803
[Jzn Uss
GM117974
[Jzn [lss
10A10110
[Jzn [ss
10A14357
zn [ ss

4/19/2025

Grommet, Hood - Air Cleaner

3.75"ID

Grommet, Instr Wiring Harness

Grommet, 1"OD x 5/16"ID

1"'0D, 5/15"ID, 3/16" Gr, 3/4" hole, 7/16 thk
Grommet, 1/4" ID

Grommet, Rubber 3/8" ID (58A4810)

Grommet, 1-1/8 OD x 5/8 ID x 1/16 Gr (No. 9)

spark plug wires, 2 or 3 per tractor
Grommet, Panel Support

2 per tractor

Oliver White | MM
1950T, 1855, 1955
2-88, 2-110, 2-135, 2-
155, 2-180
M670 fender
Gvi,R,Z,U
G704-G708

www.oliverhardware.com

Page 11 of 34



20 - Fenders, Platform, Seat

100611A
[Jzn Uss
E849
[Jzn U'ss
106259A
[Jzn Uss
30-3042340
zn Uss
30-3016463
[Jzn [ ss
30-3016692
zn Ul ss
S452
zn Lss
1314
[Jzn [lss
159813A
[Jzn Uss
159815A
[Jzn [lss
T451
zn Uss
159470A
[Jzn U'ss
1264
[Jzn Oss
4002
[Jzn [lss
159827A
zn U'ss
159838A
zn U ss
159873A
zn Uss
30-3087778
zn [ss
159471A
zn Uss
$451
Zn VM ss
30-3161757
[(Jzn [ss

4/19/2025

Vibration Isolator

fender fuel tank (4/tank), S55 (2) & 550 (5) sheet metal, FWA shield (2)
Bumper, Rubber

fender fuel tank - 8/tank; 1800 & 1900 platform door (1); S55 & 550 (6) platfor

Washer, Hvy Fender 3/8 x 1-5/8 x 7GA

fender mounting, 6 per fender

Handle, Mounting Instr Panel

'55 series; black powder coated, w/ mounting hardware
Pad, Vibration Dampener 2-3/4" OD x 3/4" ID

platform mount replace by 30-3161757 (3"OD)
Sleeve, Dampener 3/4 1D x 9/16 long

Hardware Kit, Fender Fuel Tank Rubber Mount 100611A

rubber mount, 7/16 bolt, large washer; 4 per fender
159828A Spring Washer, 1/2"

replacement for 159828A for seat roller, one pre roller

Bearing, Torsion Bar Suspension, 2 per seat

delrin material

Bearing, Flanged Bronze

T-bar seat suspension
Hardware Kit, Seat Cushion - '50, '55 Series

includes shoulder bolt 159873A (2)
Handle, IP Grab

short handle; Oliver dash, White side panel; e-coated
Clinch Stud, 5/16 - 28 x 3/4 Flush Head

left and right platform sections
Plug, Hole 2.50" plastic

platform; replaces 935146
Roller, Seat Slide

Torsion bar suspension, 4 per seat; includes wave washer; 3D printed
Bumper, Seat Suspension (set of 2)

Torsion-bar suspension, 2 per seat; w/ mounting hardware
Bolt, Shoulder 3/8 X 1/4, 5/16 - 18 thd, 7/8 long

includes nut and lock washer 5/16"

Bumper, Seat

3D printed; later T-bar suspension
Handle, Grab

long handle; fender; ecoated
Hardware Kit, Fender Fuel Tank Trim

for two fenders
Pad, Vibration Dampener 3" OD x 3/4" ID

3"ODx3/4"ID

Oliver

White

'50, '55 series; S55, 550

1550-2150
1555-2255
$55, 550 battery tray;
1800 & 1900 platform

door; 1550-2150; 1555-

4-digit Oliver, White

1755, 1855, 1955, 2255,
G850, G940, G955/1870,

G1355/2270

1755, 1855, 1955, 2255,

G850, G940, G955,
G1355

1755, 1855, 1955, 2255

fender tank (4); White
lower tank (3)

1550-2150; 1555-2255;
G955, G1355

1550-2150; 1555-2255

1550-2150; 1555-2255;
G550-G940

1650-2150, 1555, 1655,

G550, G750

2-70, 2-85, 2-105, 2-

150

2-85, 2-105, 2-150

2-85, 2-105

2-85, 2-105, 2-150

2-70-2-150

G85, G105, G150

2-70, 2-85, 2-105, 2-

150

2-70, 2-85, 2-105, 2-

150

1755-2255; G955, G1355 |2-85, 2-105, 2-150

1550-2150: 1555-2255;
2-78-2-150; G955,
G13555

1550-2150; 1555-2255

1550-2150; 1555-2255;
G550-G940

1755, 1855, 1955, 2255

1600-1900, 1550-2150,

1555-2255; G550, G750,

G850, G940
'50 & '55 series

www.oliverhardware.com

2-70, 2-85, 2-105, 2-

150

2-7-, 2-85, 2-105, 2-

150

2-70, 2-85, 2-105, 2-

150

2-70, 2-85, 2-105, 2-

150

2-85, 2-105, 2-150

G850, G940, G955,
G1355

G950, G1050, G1350,
G955, G1355

G550, G750, G850,
G940, G955, G1355

G955, G1355

G850, G940, G955,
G1355

G950, G1050, G1350,
G955, G1355

G550 G750, G850,
G940, G955, G1355

G550 G750, G850,
G940, G955, G1355

G550 G750, G850,
G940, G955, G1355

G955, G1355

G955, G1355

G955, G1355

G550, G750, G850,
G940, G955, G1355

G550-G1350, G955,
G1355

Page 12 of 34



20 - Fenders, Platform, Seat
159829A Roller, Suspension

Zn L) ss Torsion bar suspension, 2 per seat
S401 Hardware Kit, Fenders & Lights
Zn [ ss one bolt 3/8 x 2-1/2", nut, and lock washer
100612A Washer, Vib Isolator (3/8x1.63x12GA hvy fender)
zn L[] ss rubber mount, grab handle
S412 Hardware Kit, Fender Extension 70
zn [Jss
S413 Hardware Kit, RC Fender & Extension
zn [lss
S421 Hardware Kit, Fender Extension 2-3D
zn Lss per fender
105220A Clamp, Light Domed
zn Llss 30 printed
E6781 Spring
[Jzn [ ss fender light mounting, hydralectric
0451 Spring Nut Kit, FFT Light
Zn [ sS fender fuel tank light spring loaded nut

1318 Bushing, Fender Mount 1465
zn Ll ss

2975 Plug, Hole Pryout 2.50"
[Jzn U'ss platform; replaces 935146

$422 Hardware Kit, Platform Splash Panels 7's & 8's
zn [Jss

T441 Hardware Kit, Seat early 4-digit

Zn Lss early 4-digit models; black coated
T453 159838A Bumper, Seat Suspension

zn U] S8 Torsion-bar suspension, 2 per seat; w/ mounting hardware
1K942 Bumper, Seat
[Jzn [Jss
$502 Hardware Kit, Fender Fuel Tank Trim
zn [ ss white
S501 Hardware Kit, White Fender Trim w/o cab
zn [Jss noncab
30-3154718  Pad, Vibration Dampener 3" OD x 1-3/16" ID
zn U ss
30-3151654  Sleeve, Cab Mount - 1-1/8 ID X 1-5/8 OD X 3/8 Lg
[Jzn [ ss
30-3161749  Washer, Vibration Dampeners
[Jzn [Jss 13/16" hole
30-3201783  Washer, Vibration Dampeners
[Jzn [Jss 1-3/16"hole

4/19/2025

Oliver | White

1550-2150; 1555-2255;  2-70-2-150
2-78-2-150; G955,

G13555

4-Digit Models (1550-

2255)

$55, 550 hood mount; grab handle, firewall M670

fender fuel tank; dash  spacer
grab handle
60, 70

80

66-88, $55-S88, 660-880

all 4D models

all '50 and '55 series

models

all '50 and '55 series
models

1600, 1650, 1655/G750,
1550, 1555/G550

77, 88, S77, S88, 770,
880

1600, 1800, 1900, 1550,

1650

2 & 3 digit models

2-85, 2-105, 2-150

2-85, 2-105, 2-150

2-85, 2-105, 2-150, 2-

88, 2-110, 2-135, 2-
155, 2-180

2-88, 2-110, 2-135, 2-

155, 2-180,
Workhorse models

2-88 to end of line

www.oliverhardware.com

G550 G750, G850,
G940, G955, G1355

Page 13 of 34



20 - Fenders, Platform, Seat

10A18106
zn U'ss
10A20260
zn Uss
10A20261
Zn [lss
10A20224
zn Uss
50A5095
zn Uss
50A5095-P
zn Ul ss
10A22024
zn U ss
10A22392
[Jzn [lss
10A26507
[Jzn Uss

4/19/2025

Grommet, Wheel Guard

3D printed
Grille, Wheel Guard - no hole

black powder coat painted
Grille, Fender - one hole

black powder coat painted
Grille, Fender - two holes

black powder coat painted
Screw, No. 10 - 24 x 3/8 HWH Tapping Typ F

MM fender panel, 8 per; sold in pack of 8; black powder coated
Screw, No. 10 - 24 x 3/8 HWH Tapping Typ F

MM fender panel, 8 per; sold in pack of 8; black powder coated
Mount, Rubber

seat and fuel tank mounting
Mounting, Flexible 5/16

Mount, Rubber 3/8" studs

www.oliverhardware.com

Oliver

White

G1000, G900, M670,
U302, Jet Star 3

G1000V, G1000, G900,
M670, U302, Jet Star 3

G1000V, G1000, G900,
M670, U302, Jet Star 3

G1000V, G1000, G900,
M670, U302, Jet Star 3

G1000V, G1000, G900,
M670, U302, Jet Star 3

G1000V, G1000, G900,
M670, U302, Jet Star 3
M670, M670S, U302

M670

M670, M6, 70S

Page 14 of 34



21 - Control Knobs & Grips

103098A
[Jzn Uss
102307A
[Jzn U'ss
1255
[Jzn Uss
158398A
[Jzn U'ss
167020A
[Jzn [ ss
169306A
zn Ul ss
30-3099261
zn U ss
30-3217639
zn U ss
10A7402
zn U'ss
1358
zn [l ss
104567A
zn Uss
1360
[Jzn U'ss
30-3020940
zn U ss
16515
Zn Ml ss
1086
zn [ss
1087
[Jzn [lss
30-3217655
[(Jzn Oss
30-3384233
[Jzn [lss
30-3384241
[Jzn Uss
30-3384268
[Jzn [lss
30-3385116
[Jzn [ss

4/19/2025

Knob, Lever

transmission, PTO
Knob, 1-1/4" Round

3/8-24 thd, throttle, 2-speed, 3-speed, FWA, TPH, hydraulics

Grip, PTO Lever - Molded Rubber

replaces 158398A
Grip, Lever

PTO and park brake
Knob, 1-1/8 Oval

3/8-24 thread, hydraulics

Knob, Throttle - black

unthreaded - throttle, O/U; 3D printed soft

Knob, Hydraulic

alternate to 30-3020940; 3D printed from TPU

Knob, Throttle - red

soft unthreaded - throttle, O/U; 3D printed

Knob, Hand Lever

throttle, 3D printed

Knob, Teardrop special

3/8-24 thread
Knob, Hydra-lectric

hydraulic levers

Knob, Teardrop 1.25 x 2.00

3/8-24; throttle
Knob, Hydraulic

3D printed hi detail
Grip, Cletrac Lever

Knob, White RBY small

Knob, White Transmission alt Ig

Knob, PTO yellow

Knob, Throttle 0/U

red, Agco 72161003
Knob, PTO

yellow, Agco 72161004
Knob, Hydraulic

black, Agco 72161005
Knob, Gear Shift

Agco

Oliver White MM
all models 2-70, 2-85, 2-105, 2-  |all but Vista
150
all '00 and '50 series
1550-2150, 1555/G550, |2-70
1655/G750
1550-2150, 1555-2255; 2-70 G955, G1355
G550-G940
1550-2150; 1555, 1655 |2-70
1755-2255 2-70 G850, G940, G955,
G1355
1755-2255 2-85 thru 2-180 G955, G1355
1755-2255 2-70 G850, G940, G955,

Super 55, 550

1600-1900/ 1550-2150

1755-2255, S44, 440

Cletrac

2-85, 2-105, 2-150

2-88, 2-110, 2-135, 2-

155, 2-180,
Workhorse,

2-88, 2-110, 2-135, 2-

155, 2-180,
Workhorse,

2-88, 2-110, 2-135, 2-

155, 2-180,
Workhorse,
White Sl

www.oliverhardware.com

G1355

335, 445, JetStar,
JetStar 3, 5 Star,
M602/604, M670,

Page 15 of 34



21 - Control Knobs & Grips

30-3207730
[Jzn U'ss
35A5411
[Jzn Uss
10A13578
zn Uss
10A14759
[Jzn Uss
10A24804
zn U ss
10A7714
zn U ss
10A8795
zn [ ss
1256
[Jzn [ss
1273
[Jzn U'ss
15A9581
zn U ss
UT223
[Jzn U'ss

4/19/2025

Knob, Transmissioin

red

Knob, Lever

3/8-16, 1-1/4" diameter;
Knob, Shift Lever

also 10A7077

Grip - Hand Lever, Rubber
5/8 ID, hydraulic lever

Grip, Control Lever 3/4" (PTO, AIT)
SEBS 4W50: 2hr38min, 31gm
Hand Grip, Hydraulic

3D printed; also 30-3020940

Grip, Hand Control Lever

PTO & A/T; 3D printed from TPR
Grip, PTO - Molded Vinyl

Oliver

White

for PTO and 2-speed; replaces 10A24804 and 10A8795

Grip. Hand Clutch

U&G
Grip, Hand Lever (clutch)

hand clutch, 3D printed from TPR
Knob, Shift Lever

www.oliverhardware.com

2-85, 2-105. 2-135, 2-
155

G705, G706, G707,
G708 hydraulic

335, 445, 5Star,
JetStar, 4Star

Gvi, G704, G705, G706
hydraulic

many

335, 445, JetStar,
JetStar 3, 5 Star,
M602/604, M670,

335, 445, 5 Star, Jet
Star, 4 Star, U302, M5,
M602, M670, G900,

all non-letter models

Uand G
Gvi thru G708 clutch;

Gvi-G1350 FWA

many

Page 16 of 34



30 - Engine
C273

zn U'ss
102566A
[Jzn U'ss
30-3164721
[Jzn Uss
30-3157121
[Jzn U'ss
1330
[Jzn [ ss
160145AS
zn Ul ss
157990A
[(Jzn [ss
B452
zn U ss
169334A
zn U'ss
101585A
[Jzn [lss
30-3090604
[Jzn Uss
B411
zn Uss
B422
zn U ss
B423
zn [ss
1K1934
[Jzn Uss
30-3093077
zn U ss
M536
[Jzn U'ss
1E514
zn [ss
450381A1
zn Uss
450381A2
zn U ss
35A5887
[(Jzn [ss

4/19/2025

Rod End Kit, 1/4-28 Yoke Adjusting

Throttle linkage; kit includes clevis pin, cotter pin, jam nut

Washer, Governor Control

Sleeve, Governor Control

Washer, Governor Control
1-1/4" OD, print is -1/2"
Cable, Choke and Shutoff - 84" long

Made in USA, 0.187 covered conduit, 0.062 SS core, upper & lower seals, mu
Indicator, Air Filter

with fitting; also MM 10A30518
Valve, Vacuator
3", MM 10P4074
163293A Link, Governor 1850

1/4" ends; also 158695A
Insulation, Fuel Tank

ceramic fiber, original factory part may contain asbestos

Clip, Precleaner Screen

Valve, Vacuator
2"
H888 Governor Link - 6, 7, 8

governor link kit
E888 Governor Link - S55 550 gas

governor link kit, 5-3/16;
105146A Governor Link short - 550 diesel

governor link kit, 4-7/16
Nut, 1/4" Flared Union

SAE 45° Flare Long Nut Brass; LPG fitting
Fan Blast Baffle, 2255-2WD

includes mounting hardware
Crank, Starting

also 1J536
Strip, Radiator Mounting

two halves
Pad, Radiator

S44 & 440, 2 per tractor; sold as set of 2
Pad, Fuel Tank Mount

S44 & 440, 3 per tractor
Bushing, Rubber 3/8 x 1-3/8 OD

radiator mounting

Oliver White

S44, 440; diesels: 66,

77, 88, S55, S66, S77,

$88, S99, 550, 660, 770,

'00 Series C, '50 Series, 2-70

1555, 1655

'00 Series C, '50 Series, |2-70, 2-85, 2-105, 2-
'55 Series 150

1755-2255 2-85, 2-105, 2-150

1550, 1650, 1750, 1850, 2-70
1950, 1555, 1655

1550-1950; 1555-1955  (2-70, 2-85, 2-105
1850 2-85, 2-105, 2-110
1755-2255 2-85, 2-105, 2-150
all 4 digit models exc

2255

2255

60, 70, 66, 77, 88, S66,

S77, S88, 660, 770, 880

S55 gas & diesel, 550
gas

550 diesel >110015

2255

$55

S44, 440

440

Letter models

G550, G750

G550, G750, G850,

G940, G955, G1355

G850, G940, G955,

G955, G1355

2-85 (6), 2-105 (6), 2- |JS3 (4), U302 (4), M670

150 (12)

www.oliverhardware.com

(6), G900 (4), G1000
(4), G1000V (4), G950

Page 17 of 34



30 - Engine
30-3411222

[Jzn U'ss
30-3305414
[Jzn Uss
30-3215032
[Jzn U'ss
30-3305341
[Jzn Uss
10A28707
[Jzn [lss
1254
[Jzn [ss

4/19/2025

Mount, Radiator

1-3/8" OD x 5/8" thk; 5/16"x5/8" studs; 4 per tractor
Strip, Fuel Tank

tank cushion, 2" x 14", PSA

Switch, Pressure

4psi, NC

Thermocouple, Exhaust Temp

Call Donald Diller 315-730-1091
Grommet, Fuel Tank

Spring, Hydraulic Linkage UB

White

www.oliverhardware.com

4-225

All Field Boss and

Workhorse White

models except 2-70;

4-270

G950, G1050, G1350,

Page 18 of 34



33 - Engine Exhaust Clamps

$5C3280
[Jzn Uss
S$SC3780
[Jzn U'ss
$5C2030
[Jzn Uss
$5C2530
[Jzn U'ss
$SC1730
[Jzn [ ss
$5C1920
[Jzn [lss
$5C2280
[Jzn [ss
$5C2620
[Jzn [lss
$5C3530
[Jzn Uss
166408A
[Jzn [lss
158681A
[Jzn Uss
$5C4280
[Jzn U'ss
950207
[Jzn Oss
$SC2780
[Jzn [lss
$5C3030
[(Jzn Oss

4/19/2025

Clamp, Exhaust 3.00 (3.080-3.280) - 3280

muffler; single bolt, pulls around for best seal
Clamp, Exhaust 3.50 (3.580-3.780) - 3780

muffler; single bolt, pulls around for best seal
Clamp, Exhaust 1.88 (1.830-2.030) - 2030

extension for S55, 550
Clamp, Exhaust 2.25 (2.330-2.530) - 2530

muffler; single bolt, pulls around for best seal
Clamp, Exhaust 1.50 (1.530-1.730) - 1730

muffler; single bolt, pulls around for best seal
Clamp, Exhaust 1.75 (1.720-1.920) - 1920

muffler extension
Clamp, Exhaust 2.00 (2.080-2.280) - 2280

muffler; single bolt, pulls around for best seal
Clamp, Exhaust 2.38 (2.420-2.620) - 2620

muffler; single bolt, pulls around for best seal
Clamp, Exhaust 3.25 (3.330-3.530) - 3530

muffler; single bolt, pulls around for best seal
Clamp, Band 11GA x 7/8" wide x 3-3/8 ID

muffler extension
Clamp, Hose 3" ID - #44

muffler extension
Clamp, Exhaust 4.00 (4.080-4.280) - 4280

muffler; single bolt, pulls around for best seal
Clamp, Hose 4-1/4" - #64

muffler extension
Clamp, Exhaust 2.50 (2.580-2.780) - 2780

muffler; single bolt, pulls around for best seal
Clamp, Exhaust 2.75 (2.830-3.030) - 3030

muffler; single bolt, pulls around for best seal

Oliver White | MM

1650D, 1750, 1800, 2-70, 2-85

1655, 1755, 1850G,

1855G, G750D, G850,

S99GM, 990, 995, 1900, (2-105, 2-110, 2-135
1950, 2255

$55 & 550 extension Jet Star (early), Jet

Star 3

S44, 440 335,445

60

66, 77, & 88 extension

70, 855, 550

66-88, S66-S88, S99,
660-880, 950, 1600,
1550, 1650G, 1555,
1850D, 1950T, 1955,
2050, 2150

1950T, 1955

17xx & 18xx extension |2-70, 2-85 extension
w/o aspirator

2-180 2155, 2655, G705,
G706, G900, G1000,
G950, G1050, G1350,

2-85 extension

wl/aspirator

R, Z, M-5, M602, M670

Z, U, G, Gvi, 5 Star, Jet
Star (late)

www.oliverhardware.com Page 19 of 34



40 - Drive Train

30-3176835
[Jzn Uss
BA916A
zn Uss
10298
[Jzn Uss
105488A
[Jzn U'ss
155321A
[Jzn [ ss
155339A
[Jzn [lss
155468A
[Jzn [ss
943148
[Jzn [lss
7A916
zn U'ss
156958A
zn [l ss
31-2901837
zn Uss
30-3329100
zn Uss
30-3394220
zn U ss
30-3217507
[Jzn [lss
10A19825
zn [ss
GM196644
[Jzn [lss
10A14520
[(Jzn Oss
50A770
[Jzn [lss
15A9215
[Jzn Uss

4/19/2025

PVC Closure, PTO Valve 2-3/8 ID

Boot, Gear Shift Lever

3D printed from TPU

Gasket, Filler Cap

aluminum; transmission and open center hydraulic filler cap
Breather Vent, 3/8 NPT

filtered; upgrade for all models

Breather Vent, 1/8 NPT Sht

FWA axle differential

Valve, Relief 1/8 NPT Sht

FWA axle planetary

Breather Vent, 3/8 NPT

baffled nonfiltered
Bushing, Pipe 1 x 3/8 Reducer

PTO breather; rear end breather upgrade for 17xx models and up

Cover, Shift Lever

SEBS40: 8hr30min, 90gm
Bushing, HPD Control

Boot, Fiat Shifter

Bumper, Brake Pedal

1.75" long
Bumper - Clutch Pedal - 1/2 ID x 1-1/8 Long

1-1/8" long

Boot, 3-way

Cap, Shift Lever Boot

Plug - Pipe, Ctsk. Sq. Head, 1-1/4"
transmission filler plug

Spring, Parking Latch

O-ring, Clutch Adjusting Plug 1-1/2" OD

Ring, Retaining
0.25 thk x 3.00 OD shaft

Oliver White | MM
1755, 1855, 1955, 2255, |2-85, 2-105, 2-150 G955, G1355
G850, G940
all, exc 9's series 2-70, 2-85, 2-105, 2-
150
6's, 7's, 8's, 1600, 1550, 2-70
1650, 1555, 1655
S99, S99GM, 950, 990,
995, 1800, 1900
FWA FWA FWA
FWA i FWA
2050, 2150
9's
4D w/HPD 2-70
1465
2-88, 2-110, 2-135 S3,
2-155 S3, 2-180
2-88, 2-110, 2-135 S3,
2-155 S3, 2-180
2-135, 2-155
JS3 and up

www.oliverhardware.com

335, 445, 5-Star, Jet
Star

Gvi, G704-G708
U302, M670, G900,

G1090, G1000V, G950-
G1350, A4T

M670, M5

Page 20 of 34



41 - Drain Plugs

172
[Jzn Uss
1173
[Jzn U'ss
30-3000419
[Jzn Uss
52698
[Jzn U'ss
1170
[Jzn [ ss
B167
[Jzn [lss
B168
[Jzn [ss
1331
[Jzn [lss
171
[Jzn Uss
1181
[Jzn [lss
106035A
[Jzn Uss
156339A
[Jzn U'ss
165951A
[Jzn Oss
10A26068
[Jzn [lss
941038
[(Jzn Oss
10A25496
[Jzn [lss
10A26069
[(Jzn Oss

4/19/2025

Plug, 1/2 - 14 NPTF Sq. Hd. Magnetic Ceramic Disc

S$1929, 2-speed, 3-speed, and transfer case oil drain
Plug, 3/4 -14 NPTF Sq. Recess Magnetic Ceramic Disc

106866A; transmission drain
Plug, Oil Drain 1/2 - 14 NPT Ctsk. Hex Skt. Steel

PTO/Rear End check plug
Plug, Pipe 2" Ctsk. Hex NPT

PTO adjustment hole
Sight Gauge, 1/2" NPT

rear end
Plug, Oil Drain 7/8-18 UNS Hex Hd

engine oil drain
Seal, Oil Drain Plug 7/8

$3.00 Steel, $4.50 Alum
Plug, 1/8 - 27 NPT Brass

carburetor drain plug
Sight Gauge, 3/4" NPT

Sight Gauge, 3/8" NPT

transmission oil level plug
Seal, Oil Filter GM 3/4"

GM oil filters, Perkins oil drain plug; reuseable dual o-ring/crush seal

Seal, 7/16" Waukesha Oil Filter

reuseable dual o-ring/crush seal
Seal, Oil Filter 1/2"

Waukesha 310 bypass oil filter
Plug, Pipe, Hex Hd., 1/4 - 18 NPT

transmission drain
Plug, Pipe 3/8 - 18 Hex Hd

White trans. Drain
Plug, Drain 3/8" - 18 NPT, Magnetic Sq. Hd.

transmission drain
Plug, Drain 1/2 - 14 NPT Hex Hd

Magnetic engine oil drain

Oliver

White

1800 thru 2255; G550
thru G940

all models

1800, 1900, 1750-2150,
1755-2255, G850, G940

1800, 1900, 1750-2150,
1755-2255

4-digit models

all except 1850 diesel
and 2255

most Oliver's except
1850

2 & 3 digit gas models

2 & 3 digit models

$55, 550

S99GM, 990, 995, 1900,

1950, 1850

1650, 1655, 1750, 1755,

1855, 1955, G750, G850,

G940 oil filter
1955

www.oliverhardware.com

2-70 thru 2-180

all models 30-
3117391

2-85-2-150, 2-88, 2-

110

2-85, 2-105, 2-150

2-85, 2-105, 2-150

2-70, 2-150

2-70, 2-150

4-210, 60/80
American,

Workhorse 160, 185,

4-225

50A4441 engine oil
drain early models;
G955, G1355

G955, G1355

G955, G1355

G955, G1355

G955, G1355

G1355

G1355

G1000V, M670

MM G models

Page 21 of 34



50 - Hydraulics, Hitch

104616A
[Jzn Uss
P461
v zn L ss
164267A
[Jzn Uss
1E3318
[Jzn U'ss
30-3319997
[Jzn [ ss
920016
[Jzn [lss
1302
[(Jzn [ss
1303
[Jzn [lss
30-3017982
[Jzn Uss
30-3017990
vlzn [lss
30-3032663
[Jzn Uss
70923379
[Jzn U'ss
P441
v zn [ss
K2072
[Jzn [lss
165411A
vl zn U ss
F461
vlzn [lss
F462
vl zn U ss
1K2060A
vlzn [ss
E3332
[Jzn Uss
E3333
vlzn [lss
720552A
[(Jzn [ss

4/19/2025

Pin, Linch

167019A Knob, Servo Valve Stop TPH

Oliver White

1755/G950, 1855/G940, 2-85, 2-105, 2-150
1955, 2255

Replaces 167019A; includes knob, 1/4--20 carriage bolt, flat washer

Retainer, TPH Lift Arm

weld to TPH lift arm
Pin, Clinch

White 30-3391086
Strap, Rubber

TPH, replaces spring
Washer, 7/8 Plain SAE

TPH lift link pin, 2 per pin

Male Dust Cap, 1/2" Hydraulic Coupler

Female Dust Cap, 1/2" Hydraulic Coupler black

Sleeve, Tube 3/8" x 2"

Sleeve, Tubing 1/2" x 2-1/2"

Sleeve, Tube 1/4" x 2"

AS568-115 Buna-N 70 Durometer X-Ring (941564)

all 4-digit models all models up to 2-

135

1755-2255, G850, G940, 2-85, 2-105, 2-150, 2-

G955, G1355 88, 2-110

1755-2255; G840, G940, 2-85 - 2-180
G955, G1355

1755-2255, G850, G940 2-85, 2-105, 2-150

1755-2255 all but 2-70

3/32 x 11/16 ID; two sealing surfaces, recessed parting line

Hardware Kit, TPH Implement Latch

4 - 1/4" screws & lock washers
Clip, Cylinder End Pin

Clamp, Cooler Mounting (721610438)

3D printed
O-ring Kit, Remote Valve

all 4-digit

88, 2-110

'50, '55 series w/ O/U

1755-2255 all except 2-70

4 o-rings for sealing between valve bodies, CC systems; Buna-N, 70 duromete

O-ring Kit, Servo Valve

4 o-rings for sealing servo valve, CC systems; Buna-

Boot, Hydraulic Control Lever

Clevis, Chain 5/16"

TPH sway chain, 4 per tractor
Pin, Clevis 3/8 x 1-1/4

includes cotter pin
Seal, Oil Filter Body

Square o-ring

1755-2255 all except 2-70

N, 70 durometer, quad-ri
2D hydraulic lever
Super 44, 440, Super
55, 550

Super 44, 440

www.oliverhardware.com

2-85, 2-105, 2-150, 2-

G955, G1355

G550 G750, G850,
G940, G955, G1355

many

many

G955, G1355

G955, G1355

G850, G940, G955,
G1355

G955, G1355

G850, G940, G955,
G1355

G850, G940, G955,
G1355

Page 22 of 34



50 - Hydraulics, Hitch Oliver White I MM

104452A Switch, Hydra-lectric Hand Lever

zn [ss
1K2240A Boot, Hydralectric Switch 1600-1900; 1550-2150;
: 1555, 1655; hydra-
zn [ 'ss 3D printed lectric cylinders
1KSA2241 Switch Assy, Micro hydra-lectric cylinders:

1600-1900; 1550-2150;

[Jzn [J sS hydra-ectiic cylinders 1555. 1655, G550, G750

30A1070 Pin, Chain 1/2 x 1-7/8

[Jzn [ ss
10P3982 Plug, Vickers VTM42 Power Steering Pump G900, G1000,
: G1000Vista, G950,
[ zn [ ss vickers 375094

G1050, G1350

4/19/2025 www.oliverhardware.com Page 23 of 34



60 - Electrical, Lighting

0441
zn U'ss
30-3022633
zn Uss
30-3106306
[Jzn Uss
105373A
zn Uss
1174
[Jzn [ ss
1175
[Jzn [lss
1176
[(Jzn [ss
1205
[Jzn [lss
159666A
zn U'ss
1247
[Jzn [lss
1124
[Jzn Uss
105232A8
zn Uss
0442
zn U ss
1206
[Jzn [lss
101637A
zn U'ss
100650A
[Jzn [lss
$3300
[Jzn U'ss
710
[Jzn [lss
101521A
[Jzn Uss
1306
[Jzn [lss
157012A
[(Jzn [ss

4/19/2025

Switch, Neutral Start

105498A NC & 30-3017095 NO w/hardware
Switch, Park Brake

micro switch, long lever
Key, Ignition - set of 2

Knob, Light Switch

3D printed; includes mounting hardware
Housing, Lighter

Replaces 158152AS
Cap, Lighter Housing

Plug, Lighter

Replaces 158447AS
Lighter Assy

Boot, Lighter

Flasher, 2 Terminal

replaces 164181A
Battery Mat, 8"x14"

protects battery tray, absorbs & neutralizes acid

Switch, Ignition

Oliver

White

all 4 digit models

1755, 1855, 1955, 2255, 2-85, 2-105, 2-150

G850, G940, G955,
G1355

all 4 digit

all 4-digit models

4-digit models

1550-2150, 1555, 1655

Includes keys and terminal nuts & lock washers; 10-32

Hardware Kit, Light Switch Mtg
4-digit light switch
Socket, Implement Light

MM 10A4974, OL 101726A, 1K-7365, 1KA7365
Switch, Neutral Start SPDT

includes mounting hardware
Nut, Starter & Ignition Switch 9/16 - 18 Jam UNF

Lock Washer, 9/16 Int/Ext

electrical switch mounting
SEMS Unit, No. 8 - 32 x 3/8 Rd Hd Slot

electrical terminals, 2-digit; also S2553
Buzzer, Warning

oil pressure
Spring Guide, Light

fuel tank fender lights
Tray Assy, Battery

dash

all 4-digit models

550, 770, 830

S44, 440, S66 S77, S88,
660, 770, 830

S44, 440, S66, S77, S88,
660, 770, 830

S44, 440, S66, S77, S88,
660, 950, 990, 995

550, 770, 880, 1600,
1800, 1900. 1550, 1555

'50 and '55 series
1800C, 1900C, 1750,

1850, 1950

www.oliverhardware.com

2-70, 2-85, 1-105, 2-

2-70, 2-85, 2-105, 2-
150, 2-135, 2-155, 2-

G550 G750, G850,
G940, G955, G1355

G955, G1355

G550 G750, G850,
G940, G955, G1355

many

many

many

many

all Field Boss models Charles City built
models

G950, G1050, G1350,
M670, G1000 Vista

many

many

Page 24 of 34



60 - Electrical, Lighting Oliver White | MM

1272 Switch, Neutral Start - pedal 2155, 2655 2-85, 2-105, 2-150, 2- U302, G1000V, M670,

] O 88, 2-110, 2-135, 20- G950, G1050, G1350,

Zn SS clutch, O/U, brake 155, 2-180 AT

10A22064 Switch, Neutral Start G900, G1000
[Jzn [ ss

10A23729 Switch, Neutral Start U302, G900, G1000,

M670, JS3S, U302

[Jzn [Jss

35A5283 Switch, Neutral Start Jet Star 3, U302
[Jzn [ ss

4/19/2025 www.oliverhardware.com Page 25 of 34



61 - Fuses
106366A

[Jzn Uss
1159
[Jzn U'ss
169295AS
v zn [ ss
169295AS-3
v zn L ss
103427AS
vl zn [ss
105118AS
Vlzn [lss
105385A8
v zn [ss
10A21880
v zn [lss

4/19/2025

Cap, Fuse Holder

Fuse, 1/4 x1-1/4 AGC

3, 15, 20, 30 amps
Holder, Fuse - 6" wire, 12GA

instruments and lights
Holder, Fuse - 6" wire, 14GA

instruments
Holder, Fuse - 10" wire, 14GA

instruments
Holder, Fuse - 6" wire, 14GA

lights and hydra-lectric
Holder, Fuse - 6" wire, 14GA

lights and hydra-lectric
MM Holder, Fuse - 12" 14 GA Wires

no terminals

Oliver

White

4 digit

1755-2255

1755-2255

950-995; 1600, 1800C,
1900C; 1550-2150;

1555, 1655

1600-1900; 1550-2150;

1555, 1655

1800, 1900, 1850, 1950

www.oliverhardware.com

2-85, 2-105, 2-150

2-85, 2-105, 2-150

2-70

2-70

U302, G900

U302, G900

Page 26 of 34



62 - Light Sockets

105372A-F
zn U'ss
105372A-G
zn Uss
106766A-F
Zn [lss
106766A-G
zn Uss
1210
[Jzn [ ss
101729A-F
zn Ul ss
102977A
zn U ss
0351
[Jzn [lss

4/19/2025

Socket - Instrument Light - 1 bulb
Ford socket, includes LED bulb
Socket - Instrument Light - 1 bulb
GM socket, includes LED bulb
Socket - Instrument Light - 2 bulbs
Ford socket, includes LED bulb
Socket - Instrument Light - 2 bulbs
GM socket, includes LED bulb

Bulb, LED

instrument lamp

Socket - Instrument Light - 3 bulbs
w/LED bulbs

Socket, Indicator Light - 1-bulb, 2-wire

w/LED bulb
Socket Assy, Gauge Light

generic, with LED bulb

Oliver White | MM
all 4-digit 2-70, 2-85, 2-105, 1-
150
all 4-digit 2-70, 2-85, 2-105, 1-
150
all 4-digit 2-70, 2-85, 2-105, 1-
150
all 4-digit 2-70, 2-85, 2-105, 1-
150
1755, 1855, 1955 G850, G940

770, 880

www.oliverhardware.com

later MM models with
backlite gauges

Page 27 of 34



63 - Battery Bolts

108021A
zn U'ss
1529
zn Uss
30-3054519
Zn [lss
$1550
Zn M ss
$1551
[Jzn [ ss
1544
[Jzn [lss
K1394
zn U ss
100431A
zn U ss

4/19/2025

Bolt, Battery Box 1/4-20 x 4 J-Hd

elastic nut
Bolt, Battery 5/16 - 18 x 10 Hex Hd

30-3054519 and S1529; USS flat washer
Bolt, Battery Holddown 5/16-18 x 10 Hex Hd

lock washer, nut
Bolt, 1/4 - 20 x 8 Hex Hd Machine

SS; SAE flat washer, wing nut
Bolt, 5/16 - 18 x 9 Hex Hd Mach

cut from S1529 (SS)
Bolt, 5/16 - 18 x 9-1/2 Hex Hd Mach

cut from S1529 (SS)
Bolt, Battery Holddown 5/16-18 x 9-5/8 J-Hd

USS washer, wing nut
Rod, Battery Clamp 3/8 - 16 x 10-3/4 J-Hd

USS washer, wing nut

Oliver White | MM
1600-1900; 1550-1950T; |2-70 G550, G750
1555, 1655
66-88 diesel; 1755- 2-85-2-150 G955, G1355

2255; G955, G1355

1755 - 2255; G955 -
G1355; 2-85 - 2-150

$55 (all diesel, gas to
46000), 550 diesel

66, 77, 88

88

66, 77, 88, S55 (gas
46001-), S66, S77, S88,
550 gas, 660, 770 gas,

66-88, S66-S88, 660-880

diesel

www.oliverhardware.com

Page 28 of 34



70 - Steering

915093
[Jzn Uss
915095
[Jzn U'ss
156516A
[Jzn Uss
1E1567
[Jzn U'ss
1E635
[Jzn [ ss
1H727
[Jzn [lss
5269
[Jzn [ss
941582
[Jzn [lss
941656
[Jzn Uss
10A14477
[Jzn [lss

4/19/2025

Nut, 1-1/8 - 12 Hex Jam UNF

row crop steering spindle
Nut, 1-3/8 - 12 Hex Jam UNF

row crop front axle wishbone
Nut, 5/16 - 24 Steering Shaft Lock Knob (SS)

'00, '50 series telescope knob
O-ring, Steering Wheel Emblem (1/8 x 1-7/8 ID)

w/o telescoping column on 4-digit models
O-ring, Steering Wheel Emblem (1/8 x 1-7/16 ID)

Thrust Bearing, Steering Knuckle Shaft

Lock Washer, 1-3/8 Light

row crop front axle wishbone
O-ring, 3/32 x 1-13/16 ID

steering wheel emblem
O-ring, 1/8 x 2-3/4 ID

steering wheel cap
O-ring, Steering Wheel Emblem Seal 2-3/8" OD

Oliver

White

66-88, S66-S88, 660-
880, 1600, 1800, 1550-

1950T, 1555-1955

66-88, S66-S88, 660-
880, 1600, 1800, 1550-

1950T, 1555-1955
'00 and '50 series

770, 880, 950, 990, 995;
all '00 & '50 series wio
telescoping column

770, 830

60, 66, S66, 660

66-88, S66-S88, 660-
880, 1600, 1800, 1550-

1950T, 1555-1955

www.oliverhardware.com

2-70, 2-85, 2-105

2-70

2-70

2-88, 2-110, 2-180
w/o cab

series 1 & 3: 2-135, 2-

155, 2-180

M670, G900, G1000,
G1000V, G950, G1050,

G1350

Page 29 of 34



71 - Steering Wheel Nuts

10A31498
[Jzn Uss
915090
[Jzn U'ss
915087
[Jzn Uss
915089
[Jzn U'ss
$170
[Jzn [ ss
30P561
[Jzn [lss
GM114500
[Jzn [ss
GM219753
[Jzn [lss

4/19/2025

Nut, Steering Wheel 13/16 - 20 Jam UNEF

steering wheel;
Nut, 3/4 - 16 Hex Jam UNF

steering wheel
Nut, 1/2 - 20 Hex Jam UNF

steering wheel
Nut, 5/8 - 18 Hex Jam UNF

steering wheel
Nut, 3/4" - 16 UNF Hex Jam

steering wheel
Nut, Acorn - steering wheel

Nut, 7/8 - 14 Hex UNF

steering wheel
Nut, 3/4 - 16 Hex Jam (915090)

steering wheel

Oliver

White

1755, 1855, 1955, 2255,
2155, 2655

60-90; S55, 550; 66-88,
$66-S88, 660-380;
manual steering: 1550
550

power steering: 1550-
2150; 1555, 1655, 1855

www.oliverhardware.com

135, 2-155, 2-180

2-85, 2105, 2-150, 2- /G900, G1000, G1000V,
G950, G1050, G1350,
G955, G1355, A4T
2-88, 2-110, 2-135 & 2- 335 thru M670

155 S3, 2-180 S3

G, R, Avery models

letter model steering

wheel

335 thru M670

Page 30 of 34



80 - Frame, Wheels

A432
v zn U ss
156106A
[Jzn U'ss
1K736
[Jzn Uss
1H706A
[Jzn U'ss
1K706
[Jzn [ ss
915369
[Jzn [lss
900888
[Jzn [ss
1300
[Jzn [lss
1301
[Jzn Uss
915437
[Jzn [lss

4/19/2025

Chain Hook, Front Frame 3/8 GR 70

chain tiedown, attaches to frt frame pads, incl. bracket, hook, hardware
Bolt, Rear Wheel Hub 5/8-11 UNC x 1-1/8 G5 Hex Taper

coarse thread bolt for stamped rear wheel; 9 per; $58.50 (10% disc)
Bolt, Frt Wheel Rim 1/2-20, 90 deg, Hex Taper, 1" thd

13/16 hex head; MM 10A863, White 1K1669
Bolt, Frt Wheel (9/16 - 18 x 1-5/32, 1-19/32) Hex Taper

7/8" hex, 45 deg taper
Bolt, Wheel 9/16 - 18 x 2-1/16

Nut, 3/4 - 10 Hvy Hex Zn

wheel nut; 70922686
Bolt, 1/2 - 13 x 3-1/2 Sq. Hd. Mach., plain

non stock item

Paint, Oliver Meadow Green

12 oz. spray can
Paint, Oliver Clover White

12 oz. spray can
Nut, 1/2 - 13 Hvy Hex

zinc

Oliver White

3/4" frame hole, all
except 4's & 5's models 188, 2-110

770, 880, 1600, 1550,
1650, 1555, 1655

2-70

Super 44, Super 55,
Super 77, Super 88,
440, 550, 66, 660, 77,
60, 70, 1800, 1900

1650-2150; 1655-2255

www.oliverhardware.com

2-70, 2-85, 2-105, 2-

10A863

10A7573

Page 31 of 34



82 - Lube, Filters

Eao026
[Jzn Uss
1193
[Jzn U'ss
1137
[Jzn Uss
Eao42
[Jzn U'ss
1194
[Jzn [ ss
1094
[Jzn [lss
7A5507
[Jzn [ss
1195
[Jzn [lss

4/19/2025

Filter, Oil Amsoil Eao26

Oliver 155618A engine filter; synthetic media 99% effcient @ 20 micron
Filter, Engine Oil 30-3068145

Donaldson; cellulose media 99% efficient @ 40 micron
Oil, ATF Amsoil OE Synthetic

2/3 speed; 6 quarts
Filter, Oil Amsoil Eao42

2/3-speed; OEM length; synthetic media 99% effcient @ 20 micron
Filter, Transmission 156513A

Donaldson; cellulose media 99% efficient @ 40 micron
Flush, Engine & Transmission - Amsoil 16-o0z.

diesel & gas engines, transmissions
Filter, Engine Oil - 3-71 GM

99% efficient @ 20 micron
Filter, Engine Oil 105256AS

Donaldson; cellulose media 99% efficiency @ 30 micron

Oliver White MM
Engine: 1600, 1650G, (2-70G
1655G, 1750G, 1755G,
1855G; 2 & 3-speed:
2050, 2150 2-135, 2-155
all all G955, G1355
1600-1900; 1550-2150; |all G955, G1355
1555-2255; G550, G750,
G850, G940, G955,
1800C to 2255 all G955, G1355
all all G955, G1355

S99GM, 950, 990, 995

1900, 1950

www.oliverhardware.com

Page 32 of 34



90 - Cab
1283

[Jzn Uss
1274
[Jzn U'ss
1327
[Jzn Uss
30-3091899
zn Uss
1287
[Jzn [ ss
20-0005871
[Jzn [lss
30-3182940
zn U ss
30-3174239
[Jzn [lss

4/19/2025

Weatherstrip, Inline Self Seal Glass

90' per '55 series cab; sold in 50' rolls; 20-000371
Seal, Cab Door - per foot

Oliver

White

1755-2255

'55 Series: 20-7000443 61" & 20-7000442 82"/door=24"; White: 30-3182940 1

Seal, Openable Windows

price per foot, includes PSA
Door Bottom Gasket

1/2" x 1" x 12" w/PSA
Moulding, Edge Trim (per foot)

2255, cab door

Mount, Rubber Cab

Seal, Cab Door

Latch, Cab Filter

1755-2255
1755-2255 cab; 2255
side panel

2655

www.oliverhardware.com

early models: 2-85,
2-105, 2-150

G950-G1350; G955,

G950, G1050, G1350,

G955, G1355

all articulated models A4T, Oliver 2655

Page 33 of 34



98 - Merchandise

1263
[Jzn Uss
1284
[Jzn U'ss
1203
[Jzn Uss
1204
[Jzn U'ss
1276
[Jzn [ ss
1286
[Jzn [lss
1257
[Jzn [ss
1232
[Jzn [lss
1251
[Jzn Uss
1333
[Jzn [lss
1334
[Jzn Uss
1343
[Jzn U'ss
1344
[Jzn Oss
1345
[Jzn [lss
1253
[(Jzn Oss
1335
[Jzn [lss
1279
[(Jzn Oss
1280
[Jzn [lss

4/19/2025

Oliver

White

Flag, Oliver, Sales & Service

3'x 5'indoor use

Flag, Oliver Classic 3x5 double sided

outdoor, Oliver Shield both sides, yellow background
Switch Plate, Oliver Single Toggle 4D

4D strg wheel logo - powder coated, UV printed, 16 ga. Metal, black screws
Switch Plate, Oliver Double Toggle (4D grille logo)

4D grille logo - powder coated, UV printed, 16 ga. Metal, black screws
Switch Plate, Oliver Single Toggle - 2D shield logo

powder coated, UV printed, 16 ga. Metal, black screws
Spinner, Oliver 12"

shield and keystone logos
Padfolio, Oliver Log 7"x9" with 5"x8" pad

Proceeds from padfolio go to the Northern Lights Oliver Collectors club

Flag, Oliver - Shield "Finest in Farm Machinery"

3'x 5'indoor use
Flag, Hart Parr

3'x 5'indoor use

Flag, Oliver Diesel Power

3'x 5'indoor use

Flag, Oliver Merger Ccompanies

3'x 5'indoor use

Flag, Oliver Keystone garden

12" x 18" garden flag
Flag, Oliver Shield

12" x 18" garden flag
Flag, Oliver Finest

12" x 18" garden flag
Flag, MM

3'x 5'indoor use
Flag, MM Finest

3'x &' indoor use
Switch Plate, MM Single Toggle

powder coated, UV printed, 16 ga. Metal, black screws
Switch Plate, MM Double Toggle

powder coated, UV printed, 16 ga. Metal, black screws

www.oliverhardware.com

Page 34 of 34



